UNIVERSITY OF MISSOURI - Columbia Tuition Rates

Beginning with the 2012 Summer Session February 20, 2012

TUITION				2011-2012	2 RATES		2012-201	3 RATES	
Student Level or Professional Program	Residence Status	Term Type	Plateau	Per Credit Hour Rate	Flat Rate	Per Credit Hour Rate	Flat Rate	Percentage Change	Dollar Change
Undergraduate *	Missouri	Semester	None	\$261.60		\$269.40		3.0%	\$7.80
	Nonresident	Semester	None	\$688.10		\$739.70		7.5%	\$51.60
Graduate	Missouri	Semester	None	\$326.70		\$336 50		3.0%	\$9.80
	Nonresident	Semester	None	\$843 50		\$868 80		3.0%	\$25.30
Law, UMC	Missouri	Semester	None	\$536.90		\$563.70		5.0%	\$26.80
JD	Nonresident	Semester	None	\$1,060 00		\$1,113 00		5.0%	\$53.00
Law, UMC	Missouri	Semester	None	\$608 80		\$639.20		5.0%	\$30.40
LLM	Nonresident	Semester	None	\$1,204.70		\$1,264.90		5.0%	\$60.20
Medicine, UMC	Missouri	Semester	18	\$701 80	\$12,632.40	\$722.90	\$13,012.20	3.0%	\$379.80
MD	Missouri	Summer	8	\$701 80	\$5,614.40	\$722.90	\$5,783.20	3.0%	\$168.80
	Nonresident	Semester	18	\$1,397.40	\$25,153.20	\$1,439 30	\$25,907.40	3.0%	\$754.20
	Nonresident	Summer	8	\$1,397.40	\$11,179.20	\$1,439 30	\$11,514.40	3.0%	\$335.20
Veterinary Medicine,	Missouri	Semester	16	\$554 50	\$8,872.00	\$593 30	\$9,492 80	7.0%	\$620.80
UMC, DVM	Nonresident	Semester	16	\$1,410.40	\$22,566.40	\$1,509.10	\$24,145 60	7.0%	\$1,579.20

UNIVERSITY OF MISSOURI - Columbia Supplemental Course Fees Beginning with the 2012 Summer Session February 20, 2012

	2011-2012	2 RATES		2012-201	3 RATES	
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
SUPPLEMENTAL FEES	Hour Rate	Rate	Hour Rate	Rate	Change	Change
Information Technology Fee*	\$12.20		\$12.60		3.3%	\$0.40
College of Ag, Food and Natural Resources Course Fee	\$44.10		\$45.40		2.9%	\$1.30
School of Health Professions Course Fee	\$64.90		\$75.10		15.7%	\$10.20
Trulaske College of Business Undergraduate Course Fee	\$52.80		\$70.10		32 8%	\$17.30
Trulaske College of Business Graduate Course Fee	\$79.90		\$82.30		3 0%	\$2.40
College of Education Course Fee	\$37.80		\$38.90		2.9%	\$1.10
College of Engineering Course Fee	\$67.00		\$74.00		10.4%	\$7.00
School of Journalism Course Fee	\$50.70		\$60.00		18 3%	\$9.30
Sinclair School of Nursing Clinical Nursing Graduate Fee	\$177.20		\$182.50		3 0%	\$5.30
Sinclair School of Nursing Undergraduate Course Fee	\$63.90		\$65.80		3 0%	\$1.90
College of Human Environmental Sciences Course Fee	\$41.00		\$42.20		2.9%	\$1.20
Science Lab Fee	\$11.80		\$12.20		3.4%	\$0.40
Medical School Laboratory/Resource Fee		\$575.10		\$575.10	0.0%	\$0.00
Applied Music Fee		\$220.30		\$226.90	3 0%	\$6.60

UNIVERSITY OF MISSOURI - Columbia eLearning, Special Program Delivery and Continuing Education Fee Rates Beginning with the 2012 Summer Session February 20, 2012

	2011-2012	RATES		2012-201	3 RATES	
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
eLEARNING, SPECIAL PROGRAM DELIVERY & CONT ED	Hour Rate	Rate	Hour Rate	Rate	Change	Change
Graduate eLearning and Special Program Delivery Tuition Minimum	na		\$336.50		NEW	NEW
Graduate eLearning and Special Program Delivery Tuition Maximum	na		\$1,500.00		NEW	NEW
eLearning Vet Med-Deans Certificate Courses in Vet Biomed Tech	\$356 60		\$379.40		6.4%	\$22.80
Examination Only - Graduate Enrollment		\$326.70		\$336 50	3.0%	\$9.80
CE Instructional Fee - Minimum	\$261.60		\$269.40		3.0%	\$7.80
CE Instructional Fee - Maximum	\$843.50		\$868.80		3.0%	\$25.30

UNIVERSITY OF MISSOURI - Kansas City Tuition Rates Beginning with the 2012 Summer Session February 20, 2012

TUTTION				2011-2012	2 RATES		2012-201	3 RATES	
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
Professional Program	Status	Type		Hour Rate	Rate	Hour Rate	Rate	Change	Change
Undergraduate *	Missouri	Semester	None	\$257.90		\$265.60		3.0%	\$7.70
_	Nonresident	Semester	None	\$663.50		\$683.40		3.0%	\$19.90
	Metropolitan	Semester	None	\$257.90		\$265.60		3.0%	\$7.70
Graduate	Missouri	Semester	None	\$322.10		\$331.80		3.0%	\$9.70
	Nonresident	Semester	None	\$831.60		\$856.50		3.0%	\$24.90
	Metropolitan	Semester	None	\$322.10		\$331.80		3.0%	\$9.70
Anesthesia, UMKC	Missouri	Semester	na		\$10,456.50		\$10,770.20	3.0%	\$313.70
MS	Missouri	Summer	na		\$6,971.00		\$7,180.10	3.0%	\$209.10
	Nonresident	Semester	na		\$15,684.80		\$16,155.30	3.0%	\$470.50
	Nonresident	Summer	na		\$10,456.50		\$10,770.20	3.0%	\$313.70
Dentistry, UMKC	Missouri	Semester	16	\$789.20	\$12,626.40	\$820.70	\$13,131.50	4.0%	\$505.10
DDS	Missouri	Summer	8	\$789.20	\$6,313.20	\$820.70	\$6,565.70	4.0%	\$252.50
	Nonresident	Semester	16	\$1,572.80	\$25,164.20	\$1,635.70	\$26,170.80	4.0%	\$1,006.60
	Nonresident	Summer	8	\$1,572.80	\$12,582.10	\$1,635.70	\$13,085.40	4.0%	\$503.30
Dentistry, UMKC	Missouri	Semester	14	\$970.50	\$13,586.60	\$999.60	\$13,994.20	3.0%	\$407.60
Graduate Certificate	Missouri	Summer	7	\$970.50	\$6,793.30	\$999.60	\$6,997.10	3.0%	\$203.80
and MS	Nonresident	Semester	14	\$1,937.50	\$27,124.40	\$1,995.60	\$27,938.10	3.0%	\$813.70
	Nonresident	Summer	7	\$1,937.50	\$13,562.20	\$1,995.60	\$13,969.10	3.0%	\$406.90
Law, UMKC	Missouri	Semester	None	\$514.60		\$540.30		5.0%	\$25.70
JD	Nonresident	Semester	None	\$1,016.00		\$1,066.80		5.0%	\$50.80
Law, UMKC	Missouri	Semester	None	\$600.20		\$630.20		5.0%	\$30.00
LLM	Nonresident	Semester	None	\$1,187.75		\$1,247.10		5.0%	\$59.35
Medicine, UMKC	Missouri	Semester	16	\$590.40	\$9,446.40	\$590.40	\$9,446.40	0.0%	\$0.00
MD, Years 1 and 2	Missouri	Summer	8	\$590.40	\$4,723.20	\$590.40	\$4,723.20	0.0%	\$0.00
	Regional	Semester	16	\$885.60	\$14,169.60	\$885.60	\$14,169.60	0.0%	\$0.00
	Regional	Summer	8	\$885.60	\$7,084.80	\$885.60	\$7,084.80	0.0%	\$0.00
	Nonresident	Semester	16	\$1,180.80	\$18,892.80	\$1,180.80	\$18,892.80	0.0%	\$0.00
	Nonresident	Summer	8	\$1,180.80	\$9,446.40	\$1,180.80	\$9,446.40	0.0%	\$0.00
Medicine, UMKC	Missouri	Semester	18	\$580.90	\$10,455.90	\$598.30	\$10,769.60	3.0%	\$313.70
MD, Years 3 thru 6	Missouri	Summer	12	\$580.90	\$6,970.60	\$598.30	\$7,179.70	3.0%	\$209.10
	Regional	Semester	18	\$871.40	\$15,684.80	\$897.50	\$16,155.30	3.0%	\$470.50
	Regional	Summer	12	\$871.40	\$10,456.50	\$897.50	\$10,770.20	3.0%	\$313.70
	Nonresident Nonresident	Semester Summer	18 12	\$1,161.80 \$1,161.80	\$20,911.80 \$13,941.20	\$1,196.60 \$1,196.60	\$21,539.20 \$14,359.40	3.0% 3.0%	\$627.40 \$418.20
DI IDAKO									
Pharmacy, UMKC	Missouri	Semester	15	\$583.80	\$8,757.00	\$601.30	\$9,019.70	3.0%	\$262.70
Dpharm	Missouri	Summer	6	\$583.80	\$3,502.80	\$601.30	\$3,607.90	3.0%	\$105.10
	Nonresident	Semester	15	\$1,283.60	\$19,254.40	\$1,322.10	\$19,832.00	3.0%	\$577.60
	Nonresident	Summer	6	\$1,283.60	\$7,701.80	\$1,322.10	\$7,932.90	3.0%	\$231.10
Pharmacy, UMKC	Missouri	Semester	None	\$441.10		\$454.30		3.0%	\$13.20
MS and PhD	Nonresident	Semester	None	\$1,001.70		\$1,031.80		3.0%	\$30.10

^{*} Falls under SB389

UNIVERSITY OF MISSOURI - Kansas City

Supplemental Course Fees Beginning with the 2012 Summer Session February 20, 2012

	2011-2012	2 RATES 20	12-2013 RAT	TES		
	Per Credit		Per Credit	Flat	Percentage	Dollar
SUPPLEMENTAL FEES	Hour	Flat Rate	Hour Rate	Rate	Change	Change
Information Technology Fee *	\$12.80		\$13.20		3.1%	\$0.40
Graduate Cluster 1 Supplemental Fee	\$34.90		\$35.90		2.9%	\$1.00
Graduate Cluster 2 Supplemental Fee (Graduate Business)	\$75.00		\$79.90		6.5%	\$4.90
Bloch School of Business & PA Undergraduate Course Fee	\$20.00		\$25.00		25.0%	\$5.00
School of Education Course Fee, UMKC	\$11.80		\$13.30		12.7%	\$1.50
Engineering Course Fee	\$63.00		\$64.90		3.0%	\$1.90
Studio Arts Fee, UMSL (BFA), & UMKC	\$26.50		\$27.30		3.0%	\$0.80
Clinical Nursing Fee, MS (& Pre-Licensure level at UMKC)	\$174.70		\$179.90		3.0%	\$5.20
Science Lab Fee, including Geo Science	\$11.70		\$12.10		3.4%	\$0.40
Biological Sciences Lab Fee - NEW	na		\$12.50		NEW	NEW
Media & Communications Studies Lab/Studio Course Fee	\$29.20		\$30.10		3.1%	\$0.90
Applied Dance Fee		\$157.50		\$162.20	3.0%	\$4.70
Applied Music Fee		\$217.20		\$223.70	3.0%	\$6.50

UNIVERSITY OF MISSOURI - Kansas City eLearning, Special Program Delivery and Continuing Education Fee Rates Beginning with the 2012 Summer Session February 20, 2012

	2011-2012	2 RATES 201	12-2013 RAT	TES	_	
	Per Credit		Per Credit	Flat	Percentage	Dollar
eLEARNING, SPECIAL PROGRAM DELIVERY & CONT ED	Hour	Flat Rate	Hour Rate	Rate	Change	Change
Graduate eLearning and Special Program Delivery Tuition Minimum	na		\$331.80		NEW	NEW
Graduate eLearning and Special Program Delivery Tuition Maximum	na		\$856.50		NEW	NEW
Examination Only - Graduate Enrollment		\$322.10		\$331.80	3 0%	\$9.70
CE Instructional Fee - Minimum	\$257.90		\$265.60		3 0%	\$7.70
CE Instructional Fee - Maximum	\$831.60		\$856.50		3 0%	\$24.90

* Falls under SB389

MISSOURI UNIVERSITY OF SCIENCE AND TECHNOLOGY

Tuition Rates Beginning with the 2012 Summer Session February 20, 2012

TUITION				2011-2012	2011-2012 RATES		2012-2013 RATES			
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar	
Professional Program	Status	Type		Hour Rate	Rate	Hour Rate	Rate	Change	Change	
Undergraduate*	Missouri	Semester	None	\$261.60		\$269.40		3.0%	\$7.80	
	Nonresident	Semester	None	\$688.10		\$746.60		8.5%	\$58 50	
Graduate	Missouri	Semester	None	\$326.70		\$354.50		8.5%	\$27 80	
	Nonresident	Semester	None	\$843 50		\$915.20		8.5%	\$71.70	
Business,	Missouri	Semester	na	\$554 30		\$601.40		8.5%	\$47.10	
MBA	Nonresident	Semester	na	\$886.90		\$962.30		8.5%	\$75.40	

MISSOURI UNIVERSITY OF SCIENCE AND TECHNOLOGY

Supplemental Course Fees
Beginning with the 2012 Summer Session
February 20, 2012

	2011-2012	2 RATES		2012-201	3 RATES	
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
SUPPLEMENTAL FEES	Hour Rate	Rate	Hour Rate	Rate	Change	Change
Information Technology Fee *	\$13.00		\$13.40		3.1%	\$0.40
Engineering Course Fee	\$67.20		\$74.20		10.4%	\$7 00
Science Supplemental Fee for Biological Sciences and Chemistry	\$65.40		\$72.20		10.4%	\$6 80
Science Supplemental Fee for Computer Science, Geology, and						
Geophysics	\$64.20		\$70.90		10.4%	\$6.70
Science Supplemental Fee for Physics	\$32.10		\$35.40		10.3%	\$3 30
Business, IS&T and M&IS Course Fee	\$32.70		\$36.10		10.4%	\$3.40

MISSOURI UNIVERSITY OF SCIENCE AND TECHNOLOGY eLearning, Special Program Delivery and Continuing Education Fee Rates Beginning with the 2012 Summer Session

February 20, 2012

	2011-2012	RATES		2012-2013	3 RATES	
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
eLEARNING, SPECIAL PROGRAM DELIVERY & CONT ED	Hour Rate	Rate	Hour Rate	Rate	Change	Change
Graduate eLearning and Special Program Delivery Tuition Minimum	na		\$354 50		NEW	NEW
Graduate eLearning and Special Program Delivery Tuition Maximum	na		\$3,000 00		NEW	NEW
Examination Only - Graduate Enrollment		\$326.70		\$354.50	8.5%	\$27.80
CE Instructional Fee - Minimum	\$261.60		\$269.40		3.0%	\$7.80
CE Instructional Fee - Maximum	\$843.50		\$3,000 00		255.7%	\$2,156.50

* Falls under SB389

UNIVERSITY OF MISSOURI - St. Louis Tuition Rates Beginning with the 2012 Summer Session February 20, 2012

TUITION				2011-2012	2 RATES	2012-2013 RATES			
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
Professional Program	Status	Type		Hour Rate	Rate	Hour Rate	Rate	Change	Change
Undergraduate*	Missouri	Semester	None	\$257.90		\$265.60		3.0%	\$7.70
	Nonresident	Semester	None	\$663 50		\$717 90		8 2%	\$54 40
	Metropolitan	Semester	None	\$257 90		\$265 60		3 0%	\$7 70
Graduate	Missouri	Semester	None	\$322 10		\$348 50		8 2%	\$26 40
	Nonresident	Semester	None	\$831 60		\$899 80		8 2%	\$68 20
	Metropolitan	Semester	None	\$322 10		\$348 50		8 2%	\$26 40
Optometry, UMSL	Missouri	Semester	16	\$585 00	\$9,360 00	\$602 60	\$9,641 60	3 0%	\$281 60
OD	Nonresident	Semester	16	\$1,070 50	\$17,128 00	\$1,088 10	\$17,409 60	1 6%	\$281 60

UNIVERSITY OF MISSOURI - St. Louis Supplemental Course Fees Beginning with the 2012 Summer Session February 20, 2012

	2011-2012	2 RATES		2012-2013	RATES	
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
SUPPLEMENTAL FEES	Hour Rate	Rate	Hour Rate	Rate	Change	Change
Information Technology Fee *	\$12.40		\$13.00		4.8%	\$0.60
Graduate Cluster 1 Supplemental Fee	\$34.20		\$37.00		8.2%	\$2.80
Graduate Cluster 2 Supplemental Fee	\$61.80		\$66.90		8 3%	\$5.10
Business School Undergraduate Course Fee	\$36.60		\$39.60		8.2%	\$3.00
Engineering Course Fee	\$61.80		\$66.90		8 3%	\$5.10
Studio Arts Fee, UMSL (BFA)	\$26.00		\$28.10		8.1%	\$2.10
Clinical Nursing Fee, MS	\$171.40		\$185.50		8.2%	\$14.10
Nursing Course Fee, BSN, 4-Year	\$158.70		\$171.70		8.2%	\$13.00
Science Lab Fee	\$11.40		\$12.30		7.9%	\$0.90
Media & Communications Studies Lab/Studio Course Fee	\$27.80		\$30.10		8 3%	\$2.30
Social Work Practicum Supplemental Fee	\$5.00		\$5.40		8 0%	\$0.40
Theater and Dance Supplemental Fee	\$27.80		\$30.10		8 3%	\$2.30
Applied Music Fee		\$213.10		\$230.60	8.2%	\$17.50

UNIVERSITY OF MISSOURI - St. Louis eLearning, Special Program Delivery and Continuing Education Fee Rates Beginning with the 2012 Summer Session February 20, 2012

	2011-2012	2 RATES		2012-2013	RATES	
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
eLEARNING, SPECIAL PROGRAM DELIVERY & CONT ED	Hour Rate	Rate	Hour Rate	Rate	Change	Change
Graduate eLearning and Special Program Delivery Tuition Minimum	na		\$348 50		NEW	NEW
Graduate eLearning and Special Program Delivery Tuition Maximum	na		\$2,000 00		NEW	NEW
UMSL Online Supplemental Fee	\$53 60		\$58 00		8 2%	\$4 40
Nursing Undergraduate Online Program	\$403 35		\$436 40		8 2%	\$33 05
Online Supplemental Fee (A&S and COFAC)	\$28 60		\$30 90		8 0%	\$2 30
CE Distance Learning Fee (undergraduate and graduate)	\$52 00		\$56 30		8 3%	\$4 30
Examination Only - Graduate Enrollment		\$322 10		\$348 50	8 2%	\$26 40
CE Instructional Fee - Minimum	\$257 90		\$265 60		3 0%	\$7 70
CE Instructional Fee - Maximum	\$831 60		\$2,000 00		140 5%	\$1,168 40

* Falls under SB389